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Six questions may be answered.

Mathematical Tables may be obtained from the Superigs
tendent.

]. Solve the equations
2 —5x(y+9)+2y-+9)P=2,
24 x(y4-9)—10(y+9)*=20. [40 marks,}
2. () If x4y+2=0, prove that
x-! 'i'j"li _!_,34 — 2(x2;},2+),232_{_22x2)'
(ii) Factorise

a(a—1)(b—c)+b2(b—1)(c—a)-+c*(c—1)(a—0)8
[40 marks.]8

3. (i) Find the sum of » terms of
(n+ 12+ (n+2)2+(n-+3)+ .
1
(1) If f(?:):;; show that

. 2n--1
f)—~fn+ V)=
Hence find the sum of » terms of
R & 7
T2 B3 2T

[40 marks.}
35



3 pack of cards there are 52 different cards
suits of 13 cards each. In how many ways
be selected from the pack? In how many
will the three cards be (i) all of the same
[l of different suits ?

[40 marks.]

g the greatest root of the equation
: 2% —4x+1=0,
82 decimal places. [40 marks.]

d (14-%x)* by the Binomial Theorem.
ie value of the greatest coefficient, (ii) the
eatest term when x=3,

|42 marks.]

®rove from first principles that

| 3(xsinx):sinx f-xcosx,

ntiate (1) grg: (i) tan¥(5e+1)
[42 marks.]

value of

j-"(3—295)3535'5; (i1) [ : tan®0de.

bles to find, to three decimal places, the
¥ sin2— )i,

[42 marks.]

be least area (to the nearest square foot)
at can be used to construct a conical tent
y is 1,000 cubic feet. [42 marks.]

the curve

y=(x—1)x—2)—1,

ar attention to the part lying between the
1] x-—_—2, :

there points of inflexion occur, and where ¥
ninimum value, [42 marks.]



